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Term-End Examination

June, 2023
MEC-003 : QUANTITATIVE METHODS

Time : 3 Hours Maximum Marks : 100

Note : Answer the questions from both Sections as

per instructions.

Section—A

Note : Answer any two questions from this

Section. 2x20=40

1. A revenue maximising monopolist requires a
profit of at least ¥ 1,500. Her demand and cost
functions are :

P =304 - 2¢
and C =500 + 4q + 84>
Determine her output level and price.

P.T.O.

[2] MEC-003

2. (a) With an example, find out the general
solution of a first-order differential

equation.

(b) Explain how the Harrod-Domar model can
be solved with the help of a differential

equation.

3. Distinguish between point estimation and
interval estimation. Describe the properties of a

good estimator.

4. The input -coefficient matrix P and final

demand vector D of an economy are given by :

00 03 03 120
P=]103 0.1 01|,D=]| 20
02 04 0.0 80

Find out the output levels.
Section—B

Note : Answer any five questions from this Section.

5x12=60
5. Solve the following linear programming model :

Max. :
z =350y, +30y,



10.
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Subject to :
N+y,—-920
29, + =122 0

.v\_u.u\N >0.

Explain the concepts of Eigen value and Eigen

vector of a matrix.
Find the extreme value(s) of :
z=-x*+xy-y* +2x+y.

Determine whether they are maxima or

minima.

Suppose a die is rolled. We are told that the
number is even. Find out the probability that it

1s 2.
Bring out the salient features of the Poisson
distribution.

Distinguish between one-tail and two-tail tests.
Write down the steps in conducting the test of
hypothesis.

P.T.O.
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11. Find out the total differential of the following
equation :
X
y=—1—
X & Xy

12. Write short notes on the following :
(a) Central Limit Theorem

(b) Level of significance
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MEC-003 2. (31) Wh 3I[EWT i GeF@ H Th YUH-HIfE
favss T 1 T B G HIFSU
W, T, (Myme) (WA, §. ) (9) uweRT fo g yaR fadcs gHtetor =i
eI R el 9 eUe-SnR Hied &1 g fHar <
Hehdl 2l
ST, 2023 3. fag smhem oIR iUl e @ W9 oK
W, g Wi.-003 : U fafuat o ik il o
FuiF shifsq)
qaYg : 3 HqUS sifyag 1% : 100 4. TH sfefEEn & W NS oNeYE (Aze)
P 3R 3ifqw w9 D fXu MU R
ME : I A g & SW FREFER A 0.0 03 03 120
P={03 01 01],D=]20
HT—h 02 04 0.0 80
e : 39 9 9 fe<l gt yeA & s s IARA TR A S|
2 x 20 = 40 q—

. Tk @ SAfhad T il THITUHR M : 79 9 F 9 frl uie v @ S S
FA-U-HH T 1,500 & NN HI FAEAITFA 2l 5x12=60
G W SR A Fe € 5. faefafos e wWEIE AEA F1 2d S

P =304-2g ST
3R C = 500 + 4¢ + 842 sifehan
IGHT IR TR SR HiHa fruifa sifem z =50y, + 30y,

P.T.O.
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N+y-920

B4ED D) 20

TH Mg (ffge) @ erfirenafues W sk
AT de H  SEURIT @ AR

Hifsq|

z=-x2+xy—-y*+2x+y THIROT  H =H
ol F@ wifsw fuifia sifse f& 98 W\
a9 € o Aferenan|

OH <ifSu T 9 SRl T §H adrn T TR
&M TH 2| Wifehar 9 sifse f gem ‘2" 7l

gaed famur &1 qe foviwasti @ ISR
EAISIY

P.T.O.
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10. TH-T58 e 3R fg-Tes wham & o= i@

THART| IRHTTAT T H FIH D GO0 I
fafau)

11. f=1 g &1 fa fad9ss A@ st .

.W\”

12. frfafeq w gfew fewfoat fafen .
(31) == 9w vy

(F) areehdr 1 &R
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